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Abstract

This paper shows that implementation cycles, introduced in Shleifer (1986), are possible
in the presence of capital and the absence of borrowing constraints. In a two-sector economy,
patents on cost-saving ideas which take the form of investment-specific technological change ar-
rive exogenously at a sequential, perfectly smooth rate: in odd-numbered periods, they reach a
firm producing capital of type 1 and, in the even-numbered ones, a firm producing capital of type
2. Firms can make profits out of these once. While the immediate appropriation (henceforth,
“implementation”) of patents is always a possibility, for accordingly formed expectations, firms
can alternatively implement their patents simultaneously. This is because investment-specific
technological change naturally introduces a one-period discrepancy between the time firms im-
plement their patents and the time they receive revenue out of them. The implementation of
a patent implies a sharp fall in investment which, in turn, causes a boom in current consump-
tion. As a result, the consumption boom takes place before the wealth boom. This not only
eliminates the need to smooth consumption away from the wealth boom to the period before it
as conjectured, but, further, it implies that the interest rate paid when revenue is realized -and
wealth expands- falls. Consequently, present discounted profits rise and implementation cycles
can become a possibility. In a policy extension, I show that prolonging patent rights to two

periods rules out “implementation cycles” and may lead to a welfare improvement.

JEL Classification: D42, D51, E21, E22, E32, 033, 034.
Keywords: Implementation cycles, capital, savings, monopoly, demand externalities, multiple

equilibria, patent rights

*An earlier version of the paper was titled “Capitalizing Implementation Cycles.” 1 am especially grateful to
Herakles Polemarchakis for his guidance, support and invaluable comments, and to Paulo Santos Monteiro for the
many fruitful discussions we have had. I also want to thank participants at the Theory Workshop at Warwick, the
2010 Society for Economic Dynamics (SED) meeting in Montreal, the 2009 meeting of the Association of Southern
European Economic Theorists (ASSET) in Istanbul, and the 8th Conference on Research on Economic Theory and
Econometrics (CRETE) in Tinos for helpful comments and suggestions. Correspondence: Department of Economics,
University of Warwick, Coventry, CV4 7AL. E-mail address: M.Rousakis@warwick.ac.uk



1 Introduction

When it comes to the release of new products, companies, especially technology ones, are particularly
concerned about two things: its timing and being secretive. The latter suggests that potential gains
are short-lived; the former suggests that timing affects them.

This paper attempts to address three questions, related to the above remarks. First, can com-
panies coordinate the launch of new (improved) products even though they may develop them
time-separately in the presence of capital (or any storable commodity) and the absence of borrow-
ing constraints? Second, can regulators affect this possibility by extending rights over improved
technologies? And if so, will this necessarily lead to welfare improvements? Yes, yes, and perhaps.

A natural starting point in this attempt is Shleifer (1986) which introduced “implementation
cycles.” However, it did so in an economy where storable commodities are absent and argued that
their absence is indeed indispensable.! This paper builds on it, allows for capital and savings and
shows that, in sharp contrast with Shleifer’s conjecture, implementation cycles are still possible.

More analytically, the economy consists of a representative agent who consumes a final good
produced by a respective firm which he owns and to which he supplies his labor. The final-good
firm is competitive and, besides labor, uses two different types of capital. For each type of capital,
there is a respective sector comprising a number of Bertrand-competing capital makers. Capital
makers use foregone consumption (investment) to produce the capital good they specialize in.

Suppose that in odd-numbered periods, a patent reaches randomly a firm (capital maker) in
sector 1 and, in the even-numbered ones, a firm in sector 2. Patents are on cost-reducing technologies
which imply that a unit of capital requires less resources in order to be produced. Initially, as in
Shleifer (1986), I let firms make profits out of a patent only for one period; once a patent is utilized,
the innovating firms’ competitors costlessly copy the idea the patent was on and drive sector profits
to zero -until a new patent arrives to the sector. As competitors cannot reverse-engineer an idea
a patent is on before it is actually implemented, I will henceforth use the terms patent and idea
interchangeably.

Firms need to decide when they will implement their patents. I show that, if they share expec-
tations about future and have perfect foresight, multiple “sunspot” equilibria can arise: firms can
either implement their patents as soon as they receive them, which implies that patents are in place

at the same -perfectly smooth- rate as that of their arrival, or they may instead coordinate their

!See (Shleifer, 1986, page 1183).



“implementation cycles” with capital are generated.

implementation, in which case

To see this, note that imperfect competition invites demand externalities among capital-good
sectors. Since a capital maker can postpone implementation of a patent, for instance, to the following
period, when with certainty no improved technology will arrive, it needs to decide whether to
implement it immediately or in the following period. As Matsuyama (1995) notes, it is precisely the
intertemporal decision that firms face in combination with the presence of intratemporal demand
externalities that can result in multiple equilibria which can be Pareto-ranked.

Nevertheless, and despite this intuition, implementation cycles in the presence of capital and the
absence of borrowing constraints (or constrained investment volatility) is something that Shleifer
(1986) conjectured against: anticipating future profits, agents would attempt to reduce their current
savings in order to smooth out consumption. In turn, that would lower production and hence profits
in a hypothetical implementation boom. For consumption smoothing to be mitigated, higher real
interest rates would be necessary, which would in turn imply that firms discount future profits more.
Both effects could rule out implementation cycles.

Why is this not so here? The reason is that patents are on investment-specific technological
change, in the spirit of Greenwood et al. (1997, 2000). Investment-specific technological change
introduces a one-period discrepancy between the consumption boom and the wealth boom. To see
this, note that the implementation of a patent in the technology of a capital good reduces its current
production cost, whereas the revenue out of it becomes realized in the following period. The latter
implies that the wealth boom occurs one period after the coordinated implementation of patents
takes place. The former implies that investment is substantially reduced in the implementation
periods -in fact, it can even undershoot- and drives consumption above trend. As a result, the
interest rate paid then is higher than the interest rate paid in the following, “wealth-boom,” period.
This increases investment in implementation booms, smoothing out consumption in the opposite
direction from the conjectured one -without overturning the result on consumption which is a general
equilibrium one-, and implies that more capital is installed in the following period which, given the
elastic demand for it, leads to greater profits. Taking all into account, discounted profits after a
conjectured coordinated implementation of patents become greater and, therefore, implementation
cycles with capital possible.

In a policy extension, I let firms appropriate a patent for two periods. It turns out that imple-
mentation cycles become impossible. To see this, note that, in that case, postponing implementation

to the following period is equivalent to postponing implementation to two periods afterwards in the



one-period monopoly case. In a stationary equilibrium, every other period is the same. As a re-
sult, as long as firms discount future at a positive rate, which turns out to be always the case, the
possibility of implementation cycles is ruled out.

A natural question is whether the immediate implementation of patents when patent rights last
two periods is welfare-improving over the equilibria when patent rights last one period. Relative
to the immediate implementation equilibrium of the latter case the answer is negative: patents
diffuse faster to the implementing firms’ competitors which implies that the economy reaches a
certain consumption level faster. Nevertheless, relative to the cyclical equilibrium the answer can
be positive. There are two effects which push in opposite directions. The first one is the one already
described: patents (only of sector 2 though) diffuse faster in the cyclical equilibrium. Nevertheless,
in the “two-period patent” equilibrium, two firms appropriate a patent in each period. In other
words, two firms cut down on current investment every period as opposed to -them doing so- every
other period in the cyclical “one-period patent” equilibrium. This effect favors consumption in
the two-period patent equilibrium. For patents being on not too drastic (cost-reducing) ideas, the
foregone cost of them being diffused faster does not exceed the consumption benefit of having two
sectors implementing in each period, rendering, thereby, a prolongation of patent rights potentially

desirable.

Related literature. The closest paper to the present one is Shleifer (1986), the main differences
with which I highlighted above. In the remaining parts of the paper, I frequently refer to how the
two papers relate to each other in greater detail.?3

Francois and Lloyd-Ellis (2008) also generates implementation cycles with capital which, further,
can be sustained as a unique equilibrium outcome. Although, their model is quite different from the
one in this paper, I will restrict attention to two key differences. A central assumption the authors
make is that patents arrive after firms have incurred an endogenous search cost. A consequence
of this assumption is that patents arrive simultaneously in all sectors, which is in sharp contrast
with the perfectly smooth rate of their arrival in Shleifer (1986) and here: if patents arrive in

cycles, they are more easily implemented in cycles as well. A second key difference is that, in

2 A simplified version of Shleifer (1986) which could serve as an intermediate step between Shleifer’s model and mine
can be found on Lawrence Christiano’s teaching webpage. The link to this is http://faculty.wcas.northwestern.
edu/~1lchrist/d11/d1101/implement.pdf .

3With expectations arbitrarily supporting one of the possible multiple equilibria, this paper relates to the
“sunspots” literature, which, includes, among other articles, Azariadis (1981), Cass and Shell (1983) and Grand-
mont (1985) . Benhabib and Farmer (1999) offers an overview of this literature. A complementary earlier survey with
an emphasis on endogenous cycles can be found in Boldrin and Woodford (1990) .



Francois and Lloyd-Ellis (2008), patents do not affect the technology of capital but they instead
affect the technology of intermediate goods which requires only labor. Consequently, the wealth and
the consumption booms coincide. Here, patents affect the investment technology which naturally
introduces a one-period discrepancy between the consumption and the wealth boom.*

Turning to the literature related to the paper’s result on patent policy, this paper differs from a
recent and growing literature on patent protection and intellectual property rights which includes,
among other articles, Boldrin and Levine (2002, 2008b) and Henry and Ponce (2011) .76 This liter-
ature focuses on the incentives to innovate and analyzes whether markets for patents can substitute
for the absence of patent rights. Here, innovation is exogenous, whereas allowing for a market for
patents would leave the results intact.

Hopenhayn and Squintani (2010) also considers the effects of patent rights on the timing of patent
releases. However it does so in a model of sequential innovation which allows for preemptive entry
by an innovating firm’s competitors. Consequently, the timing of patents balances the possibility
of preemption and the generation of future patents. I abstract from such considerations here: firms
can utilize a patent immediately or with delay without the fear of preemption and without the
fear that the implementation of a patent affects their future generation of patents, which happens
independently over time, randomly and costlessly.

These abstractions allow the paper to concentrate solely on the effects of patent rights on the
implementation -rather than the generation- of patents and, thereby, offer a clean argument from a
different -and, to the best of my knowledge, new- perspective to the ongoing -and lively- discussion
about the length of patent rights.

The rest of the paper is organized as follows. Section 2 presents the model. Section 3 analyzes
the equilibria when patent rights last one period. Section 4 discusses welfare. Section 5 extends
patent rights to two periods and performs welfare comparisons with the equilibria which can prevail

when patent rights last one period. Section 6 concludes.

4Certainly this paper shares features, which I will not attempt to review here, with the growth literature, prominent
contributions to which include Romer (1990), Grossman and Helpman (1991) and Aghion and Howitt (1992), the
literature on strategic delay (for instance, Chamley and Gale (1994)) , as well as Matsuyama (1999) and, more recently,
Jovanovic (2009) . Needless to say, this list is by no means exhaustive.

®See also the discussion in Boldrin and Levine (2008a) .

5This literature dates back to Schumpeter (1942) and Arrow (1962). Chapter 12 in Acemoglu (2009) offers
an excellent overview of the early literature. Holmes and Schmitz (2010) offers a more general discussion on how
competition affects productivity.



2 The Model

The economy is populated by an infinitely-lived (representative) agent. The agent consumes a single
storable commodity (final good) produced by a (representative) final-good firm to which he supplies
labor. Further, the final-good firm uses two storable (composite) capital goods in an additively-
separable way. For each capital good, there is a respective sector which comprises at least two
capital-good firms Bertrand-competing for its production. It takes one period to produce a capital
good and foregone consumption (investment) is used as input in its production. Capital-good firms
become the recipients of patents on cost-saving ideas (henceforth, simply “patents”) and, once
they implement these, they can make temporary monopoly profits before being imitated by their
competitors. I elaborate more on this last -and central- feature of the economy below.

There is no uncertainty; agents and firms share expectations about the future and have perfect
foresight. Agents (firms) can perfectly borrow against their future profits (revenue). Time is

discrete and infinite and commences in period 1.

2.1 Representative agent

The preferences of the agent are given by

D BT U, ) (1)
t=1

with

Uz, ly) = logzy + x logly, (2)

where x; denotes consumption of the final good, l; denotes leisure, 8 € (0,1) parametrizes the
agent’s time preference, and y > 0 parametrizes the relative weight on leisure within the period
utility of the agent.”

The agent is endowed with one unit of time, owns all firms in the economy and can freely borrow
against his perfectly foreseen future profits. This last assumption is essentially an assumption of

perfect capital markets and allows me to use the agent’s intertemporal budget constraint given by

thxt<2mt ’U)t 1—lt +Hf ZHtZ y (3)

"The intertemporal elasticity of substitution is 1. However, the implementation cycles that I specify below are
more easily generated the greater the intertemporal elasticity of substitution is.




where m; = 5 L for t > 1, with m; = 1; R; denotes the gross real interest rate paid in

Ry .. Ri—1
period t+1, w; denotes the real wage paid by the final-good firm, and H{ and II; ; denote the profits
that accrue to the agent by the final-good firm and capital-good firm i for i = 1,2, respectively.
All prices and the real interest rate are expressed in units of the final good.

The agent chooses {(x¢, lt);2;}, where 2y > 0 and l; € (0,1] to maximize his lifetime utility

given by (1)-(2) subject to his intertemporal budget constraint given by (3). The first order

conditions with respect to x; and [; imply the following relations:

Tt+1 _ ﬁRt (4)
Tt

X

T = B2 Ry R (5)
Tt—1

l

Al g, (6)

ly Wiy

l Wy—
=P R Ry (7)
t—1 Wi+1

2.2 Final-good firm

The final-good firm is competitive in both the final-good and the input markets. Its (neoclassical)

technology is given by

F(ng, kea, ki2) = nf (ktl,fa + ktl,ga), (8)

where n; denotes employed labor, k; 1 and k; 2 denote capital of types 1 and 2, respectively, rented®
in period t and @ € (0, 1) measures the labor share and the inverse elasticity of substitution between
the two types of capital.” Note that the marginal products of the two capital types are conditionally

-on labor- independent of each other as in Romer (1990). I assume that capital depreciates fully

8] assume that final-good firms rent rather than buy capital in order to avoid possible problems with the final-good
firm buying capital in advance in order to use it in the future.
9The technology of the final-good firm can be alternatively expressed as F (n, K;) = n{ K; %, where K; =

ea—1 ea—1

Aol
fa o Vea—1 wi - 1
(kt,l + k5 )ee—T with € = - .




within a period.'?
In each period ¢, the final-good firm chooses {n:, ki1, kt2, y:} (all in non-negative quantities)

to maximize its temporal profits given by
=y — wing — qea ke — qe2 k2,

where y; < F (ng, ke, ki2) with F () given by (8); ¢:; denotes the real rental price of capital
type i for ¢ = 1, 2. In period 1, the firm is endowed with quantities of capital k1 ; and k; 2, on
which I elaborate below and in Section 4.1 .

The firm’s maximization problem yields

we = anf™ (k1® + ky5®) 9)
gti = (1 —a)ngk; [, fori=1,2. (10)
Observe that both demand functions are elastic (e, = — ﬁ and €5, = — é , respectively) and

that profits are zero in each period, an implication of constant returns to scale.

2.3 Capital-good firms

I consider two types of capital goods.!! For each capital good, there is a number of capital makers

which Bertrand-compete for its production with no capacity constraints. They are indexed by j and

4" for firms 1 and 2, respectively, where j = 1,2, ..., Jand j/ = 1,2,...,J with J,J > 2.
Capital-good firms operate a constant-returns-to-scale technology. For instance, the technology

of capital maker j manufacturing capital of type 1 is given by

ki1j = Ye-11%-115 (11)

10 Since capital depreciates fully within a period and with demand for it being positive in equilibrium, it may be
pointed out that this is essentially an irreversibility constraint since it effectively rules out disinvestment. That may
be true at face value, nevertheless, at the same time, it implies that investment has the highest possible volatility as
each period the economy needs new capital to be produced. See also fn. 33.

"This is an abstraction. In fact, I need two baskets of capital goods with each basket including a sufficiently high
number of capital goods so that each capital-good firm is small enough within its “basket.” The desired implication of
this assumption is that capital-good firms take aggregate outcomes as given; put differently, any strategic interactions
among firms within and across baskets are ruled out. For simplicity, let each basket contain a continuum of unit
measure of capital goods. That is ki; = k¢4 di’, where k;; ;» denotes capital good ¢ in basket ¢ in

i/ €[0,1]
t. Assuming a symmetric treatment of capital goods within a composite capital good allows me henceforth, for
expositional clarity, to mention capital-good type i and actually refer to the representative capital good (i,4’) in
basket @ .



where k; 1 ; denotes capital of type 1 produced by capital maker j in period ¢t and #;_1 1, denotes
capital maker j’s investment, which is foregone consumption, in period ¢t — 1 used as input in the
production of capital type 1. Likewise for capital good of type 2 (see also fn. 10).

Aggregate investment in ¢ is

J J’
Q=Y i1yt Y dragr (12)
j=1 j=1

Supposing that, before the economy starts, firms 7 and 5’ in sectors 1 and 2, respectively, have
no inferior technology relative to that of their competitors, the initial level of investment required

is given by
oo Ry k12,5
0 — )
Yo1,—j  Yoa2,—j

where 99,1, ; and g o _j» denote the technology level of their competitors before the economy starts.

+ (13)

Since I focus on the balanced growth path (steady state) of the economy, I treat time as if had
commenced in —oo. This implies that capital in period 1 summarizes the state of an economy
which started in —oo. Equivalently, an economy which starts in period 1 must do so with the

“right” levels of capital. I resume this discussion in Section 4.1 .

2.3.1 Pattern of patents

I make two assumptions on the arrival of patents which are as in Shleifer (1986) .

Assumption 1. Patents on improved technologies arrive exogenously. They reach sectors sequen-
tially, at a perfectly smooth rate. With no loss of generality, a patent reaches randomly a firm in
capital sector 1 in odd periods and a firm in capital sector 2 in the even ones. Patents are on ideas

that affect the technology of capital of type ¢ in the following way:

Per1ig  _
Y1457 ’

where 1 > 1 and 1. ; ;j denotes the state-of-the-art technology (inverse marginal cost of capital) in
sector 4 possessed by firm j .12 As time commences in period 1, an odd period, imposing Yo, = 1
and g2 = u% removes the first-mover advantage of sector 1, thereby ensuring the symmetric

treatment of capital-good sectors: the lead in the technology race alternates between sectors with

120bserve that the economy encompasses only investment-specific technological change as in Greenwood et al.
(1997) . For expositional reasons, I completely abstract from total factor productivity (TFP).



their relative technology “distance” remaining fixed at ,u% . Put differently, it is as if time commenced

in — oo .13

Assumption 2. A firm can appropriate an idea a patent is on only for one period: in the period
following its implementation, this idea becomes publicly disclosed and imitators enter driving prices

down to marginal cost and profits to zero.'4

2.3.2 Profits

Profits of capital maker j ' which produces capital good i are given by

Weij = qrijhkeij — Ri—1%t—1,i;-
Capital maker j of capital good i chooses {k; ;, it—1,;} for each t to maximize its profits subject
to the technology given by (11). Since revenue is realized one period after investment is made, I
allow capital-good firms to be able to perfectly borrow against their future revenue.
Below I distinguish between two cases: in the first case, all firms within sector ¢ operate the
same technology in which case a firm, say j, is randomly selected to produce capital of type i. In
the second case, firm j has a technological advantage over its competitors which allows it to enjoy

monopoly profits.

Perfect competition. When v ;; = 1;; _;, where 9. . _; denotes the inverse marginal cost of
the competitors of capital maker j, there is perfect competition which, given the constant returns
to scale, implies zero profits.

Firm j in sector ¢ supplies the capital good 7 at price
q. . = B
P g

13 Although I have not explored this case, presumably the assumption that patents arrive periodically could be
partially relaxed; what really matters is that the probability with which a patent reaches a particular sector before
the indicated time is sufficiently low. The fact that patents reach the economy at a perfectly smooth rate renders the
generation of cycles harder and crystallizes the forces which underpin them. If patents arrived in a cyclical fashion,
then their cyclical implementation would perhaps come as no surprise. In fact, this is what underpins the result in
Francois and Lloyd-Ellis (2008), in which, though, the timing of the patent arrival is endogenous.

1 The fact that firms make temporary monopoly profits is an assumption in line with Shleifer (1986) as well as the
Schumpeterian growth literature originating in Aghion and Howitt (1992) , which also focuses on quality improvements
(“process innovations”) ; it is in contrast with Romer (1990) in which firms’ rights over the use of an idea last forever.
Further, unlike the endogenous growth literature, this paper entirely abstracts from issues concerning the generation
of patents. This will prove useful in Section 5 where I extend the horizon of patent rights to two periods, as it will
enable me to focus on the “implementation” effects of patent rights and to entirely abstract from their effect on the
generation of patents, an issue which the literature traditionally studies.

15With a slight abuse of notation, henceforth I will make no distinction between j and j'.

(14)




Inverse demand for capital from the final-good firm (10) pins down the competitive quantity given

by

1
* (1 - Oé) ¢ —1,4,—7 a
K, = ( e I (15)

Monopoly in the presence of a competitive fringe. Capital maker j implementing a patent in
the production of capital type i, for instance, in period ¢t —1 enjoys monopoly profits in the following
period, t, as it takes one period to build capital. Capital maker j chooses k;;; to maximize its

profits given by

ki
Wi = Qrijkeij — Rion ———, K
i i, Nty Bpe—1,i,—j "

subject to the (inverse) demand for capital given by (10). Since demand for capital is elastic, the

solution is well defined:

1

R, 1—a)? i\«

qmj _ t—1 and k;:nz‘j _ <( o) by 1,4, J) .
w (1—a)pth—14—; ” R4

Henceforth, I restrict attention to the case in which ¢ ; > ¢;; ;. In this case, the “limit”

price q;;"z j is set: a capital maker which implements a patent cannot charge more than the price its
competitors would set, q;ii,j , else its competitors would undercut it and capture the whole market.

Limit pricing takes place (i.e. g5 ; > ¢;, ;) when
p(l—a) < 1. (17)

The lower the innovation rate, u, and the less elastic the demand for capital is, the more easily (17)
is satisfied. For a certain level of the elasticity of the demand for capital, condition (17) imposes an
upper bound on the innovation rate. Likewise, for a certain innovation rate, (17) imposes an upper
bound on the elasticity of capital demand.'6

Then, a monopolist sells a quantity given by (15), which corresponds to the technology level of
its competitors, at the price its competitors would set, given by (14), and makes profits because of
its lower -by p relative to its competitors- marginal cost of producing a unit of capital. Combining

(16) with (14) and (15) implies that the monopolist’s profits are given by

"“For a = 2/3, this implies that 4 < 3. In R&D theory, the complementary case in which ¢’ ; < qi; ; refers to
“drastic innovations.” See also Chapter 12 in Acemoglu (2009) .

10



11 p—1\ m
iy = (1 —a)a wt—l,i,—j ( > I (18)
M Ra
t—1
Profits depend negatively on the interest rate paid in the period they are made. This is because
demand for capital is elastic and a higher real interest rate implies that capital becomes more
costly. That the demand for capital is elastic also explains the increase of profits in the technology

level of a monopolist’s competitors. In addition, profits depend proportionally on contemporaneous

employment by virtue of the technology of the final-good firm.

2.3.3 The implementation decision

As T have already argued, the implementation of a patent results in profits in the following period.
In the presence of two capital-good sectors, suppose that the recipient of a patent needs to decide
whether to implement it immediately or in the following period.

A capital maker j in sector 7 receiving a patent in, say, period ¢t —1 will implement it immediately
rather than in the following period as long as its present discounted period t profits exceed its present
discounted t+1 profits. That is (superscripts denote the date a patent arrives and time in subscripts

refers to the date profits are made), it must be that

t—1 t—1
Wiy o Hivnig

Riv = R Ry

By (18), this boils down to

|
ng < Ry ) > 1 . (19)
Nt4+1 Ry Ry
In the complementary case in which
g Rt é_l 1
( > < =, (20)
nep1 \ Re—1 Ry

capital maker j prefers to postpone implementation to the following period.

Implicit in these is that a capital maker cannot affect the real interest rate by its actions alone
(see also fn. 11).

Last, note that, even though profits depend on the competitors’ technology level at the period

of implementation, the implementation decision is independent of it.

11



3 Balanced Growth Path Equilibria

I restrict attention to perfect-foresight, balanced growth path equilibria at which the period of cycles
is constant.

On the balanced growth path (BGP), consumption, production, and investment grow all at the
same long-run rate. However, since, by construction, a patent reaches a sector every other period,
the growth rate of the economy’s variables may differ between odd and even periods within a cycle.

I impose the following stationarity conditions on consumption:

Tr41

= 21
oy (21)
Tr41

= A 22
o : (22)

where 7 denote an even period, with no loss of generality (see also fn. 19). Combining (21) and
(22) with (4) and (5) implies
iftt =7

NS

2y ift=71+1
Combining (22) with (5) leads to the following remark:

Remark 1. R, R, = % .

Next, I provide the equilibrium definition:

Definition 1 (BGP Equilibrium). A perfect-foresight (periodic) balanced growth path equilibrium
is a set of interest rates {R;}2, and prices {wy, {qi}?-1}521, an allocation {l;, x4}3°, for the
representative agent, an allocation {n;, {k:gz}le , Yt 1524 for the final-good firm, and an allocation

({kf; s iti}i21)i=12 for the technology-leading firms in the capital-good sectors,'” such that

1. (Stationarity) Stationarity (steady-state) conditions (21) and (22) are satisfied.

2. (Optimality) The allocations of the agent, the final-good firm and the leaders in the capital-good

sectors solve their problems, laid out in Section 2, at the stated prices.

3. (Market clearing) kf’z = ki; = kg foralli, ng + 1 = 1 and yr = ¢ + i where iy =

Z't71 + it,Q; fO’f’ all t.

17km- refers to capital produced by sector i. Furthermore, as I have already mentioned, if all firms within a sector
have the same technology level, a capital-good firm is randomly chosen.
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4. (Consistency) For expectations arbitrarily centered around an equilibrium (“sunspots”), capital-

good firms must find it optimal to implement their patents as conjectured.
5. (No storage) No storage takes place.

[ start with the no-storage condition (requirement (5) in Definition 1) :!8

Condition 1 (No storage). R; > 1 for all t rules out storage in equilibrium.
Proof. See the Appendix. O

As my focus is on stationary equilibria, I will restrict attention to just period 7, an even period,
and the periods before and after it. Hence, following the analysis in Section 2.3.1, in period 7 — 1,
an odd period, a patent reaches a firm in sector 1 and the state-of-the-art technology, irrespectively
of whether the patent is implemented or not, becomes 1, greater by by u compared to its assumed
previous level v, whereas in sector 2 it remains ul/ 24 in period T a patent reaches a firm in sector

3/2

2 in which the state-of-the-art technology becomes p°/ 1), whereas in sector 1 it remains ). As

I have already pointed out, the ratio of leading technologies in the two sectors equals p'/2 in odd

1

7z in even ones; that is, the lead of the patent race alternates between sectors ad

periods and
infinitum.

I analyze two perfect-foresight equilibria: an acyclical, immediate implementation equilibrium
and a cyclical, synchronized implementation one. In the former, capital makers implement a patent
as soon as they receive it. In the latter, the capital maker receiving a patent first (henceforth, “firm
17) waits and implements it together with the capital maker receiving a patent second (henceforth,
“firm 2”); that is patents are implemented in even periods.”

For each equilibrium, I first center expectations around it and ensure that requirements (1)-(3)
in Definition 1 are satisfied. Next, I specify the conditions under which the conjectured timing of

the patents’ implementation is optimal for the capital-good firms (requirement (4) in Definition 1) .

Last, I confirm that the no-storage condition is met and pin down the transversality condition.

18The storage technology I assume is one-to-one.

19 Although T have not explored this possibility explicitly, I find no reason for why there cannot be a symmetric
equilibrium in which patents are implemented in odd periods, which, in fact, could well be the case under the premise
that period 1 summarizes the state of an economy starting in —oco. This would require simply letting 7 denote an
odd period. Since time however starts in an odd period, welfare in the two cyclical equilibria will be different. See
my conjecture on that in fn. 42.
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3.1 Immediate implementation equilibrium

In the immediate (acyclical) implementation equilibrium, firms expect each other to implement

their patents immediately.

Period 7—1. Firm 1 receives a patent which it immediately implements. Since I assume through-

out that condition (17) holds, firm 1 sets the same price as its competitors would, given by (14),

and produce the quantity which the technology level of their competitors justifies, given by (15).

In line with the analysis above, the technology levels in the two sectors are ¥,_11,_; = ¥,;_21 =

Y < Yr_11; = p,since p > 1, and Pr_12 = ,u%w, respectively.?® Then,

b = (L)

Investment by (11) and (12) is

kr k,
iy = by 1,2
/~”/] n2
Combined with (24) and (25), (26) becomes
1- T
lr—1 = [qul + H%(éfl) 1/;&71 (1 —Oé)é #
Ra

(24)

(25)

(27)

Observe that investment depends negatively on the interest rate paid in the following period, whereas

it is proportionally related to the following period’s employment, an implication of the constant-

returns-to-scale technology of the final good.

Similarly, since ¥, 21 _; = ¥ and ¥, _22 _; = M_% P,

b = (S520) -0

kr 12 = (W) (1—1—1).

20Whenever I omit j or — j from the technology subscript, I refers to all firms within a sector.
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Combining (8) with (28) and (29) yields

_ 11 1_ 14 (1—1_
Yr—1 = [1+u 2(a 1>] Yol (1—a)a 1(171).
R,

(30)

Output depends negatively on the interest rate paid currently: the higher the current interest rate
the lower the investment in capital and, thus, the lower current production is.

Market clearing in the final-good market implies that consumption is given by

1

- (1 + M*%(afl)) (1—1_1) <M_1 + M%(ifl)) (1-1,)
Tro1 = Yo (1 —a) T — T . (31)
(I-a)Ry, Ry,

T

Q=

Period 7. Firm 2 receives and immediately implements a patent. In period 7, technology in the

two sectors is ¥r1, = pv and o _; = u% Y < Proj = u% 1. Capital in the following period is

given by
kri1n = <(1_§)Wb) ’ (1= lr41) (32)
kri12 = (W) ; (L= lr1). (33)

By (11) and (12), investment is

k k
iy = Freit | Rres
H¢ w2 ’QZJ

which combined with (32) and (33) becomes

: 1 13] 1 1 (11

i = [t gt d] gt - g A t), (34)
R?

Substituting (24) and (25) in (8) yields

1— T

v = [14+ ] g @ -y Oh)

1

R

Market clearing in the final-good market implies that consumption is

14 1 (1 + /L%(é_l)> (1 - lﬂ') </’Lé_1 + Ni_%) (1 - lT+1)
;= Yo (1 —a)a y — T . (35)
(I—a)R2_, iy
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Period 7 + 1. Firm 1 receives and implements a patent. Technology in the two sectors is

3
Yri11,—5 = pp < Prypray = pP and Yryy 9 = p2p. Then,

_ ((1—04)/w

kri2n =
7 RT+1

)“ (1= lsr) (36)

kryoo = <W> (1—1lr42). (37)
T+1

Proceeding in the same way as before, investment is given by

. krio1  kryoo
lr41 = ,;2Q]Z) + T§ y
pz 1

which combined with (36) and (37) becomes

) 1_ 3(1_ 1_ 1 (1-1;
lrg1 = |:'ua 2"‘#2(“ 1):| Yo 1(1—a)a ﬁ

T+1
Substituting (32) and (33) into (8) yields
1 1e1_ 1_ 14 (1—1;
e [l K (R 1(;7,?)-
R?

Market clearing in the final-good market implies that consumption is

(312G (1= L) B (1372 4+ 2@ (1= L)

1_q 1
(1—oa) R R

1_ 1
Trp1 = Po ' (1—a)e

(38)

The above satisfy optimality and market clearing, that is requirements (2) - (3) of the equilibrium
definition. Next, I impose stationarity and check for consistency and no storage in turn.

For accordingly formed expectations, an immediate implementation (acyclical) equilibrium is
sustained as long as each firm which receives a patent finds it optimal to implement it immediately.
I split this into two steps, as in Shleifer (1986), which I label “Profit Condition 1 (IPC1)” and
“Profit Condition 2 (IPC2).”

Profit condition 1. In the acyclical equilibrium the economy grows at a constant rate. By
symmetry, employment and the real interest rate remain constant across periods, that is I, =

lr41 =land R,y = R; = R (see also fn. 21).

16



A firm prefers to implement a patent immediately rather than in the following period if and
only if condition (19) is satisfied. Given that employment and the real interest rate are constant,

condition (19) simplifies to

R>1. (IPC1)

Profit condition 2. I look for the condition under which no firm receiving a patent has an
incentive to wait for two periods irrespectively of the fact that a new patent will arrive in its sector
rendering the one in question obsolete. That is interest rates must be such that no firm has an

incentive to wait “too much.” It must be then that

42,0
Ri1 = Ri—1Ri Ry

Since R;—1 = R; = R, the above condition boils down once again to

t—1 t—1
I ; S IT

R>1. (IPC2)

Profit condition 2 ensures that firm 1 does not postpone implementation to the next odd period
and firm 2 to the next even one.

Combining profit conditions (IPC1) and (IPC2) implies that no firm postpones implementation
to any period after the next odd (for firm 1) or even (for firm 2) one either. To see this, note that
profit condition (IPC2) implies that, for instance, firm 1 does not wait until the next odd period,
whereas by profit condition (IPC1), it does not wait until the even period following this, and so

forth, and likewise for firm 2.

3.1.1 Balanced growth path

As T have already noted, by symmetry, logg = leven = [ and R, = R, = R.2! Then, it follows
from (23) that v = A2 and from (22), (31) and (38) together that A = ,ué*l. Then, by (23), the

-0
real interest rate along the balanced growth path is R = £ - Since 4 > 1, @ € (0, 1) and

g € (0, 1), it follows that R > 1, which satisfies profit conditions (IPC1) and (IPC2) as well as

the no-storage condition (Condition 1) .22

21One can confirm that this is in fact a unique stationary solution by taking the same steps as in the synchronized
implementation equilibrium. The steps in the case of the synchronized implementation equilibrium are collected in
the Appendix.

22 Since R > 1, the transversality condition, which I show for the synchronized implementation equilibrium in the
Appendix, always holds.
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These lead to the following corollary:

Corollary 1 (Steady-growth). An acyclical (steady-growth) equilibrium is always possible for ac-

cordingly formed expectations.

Further, the endogenous variables evolve as follows on the balanced growth path:23

Yir1 it'+1 _ Tl _ M%(é—l) , for all ¢ (39)

Yt (27 Tt

Li-n) -
1= |2 pd - pete ) . (40)
Xp— B(1—a) + (1—B(1— ) t5GD

That is, in the acyclical (baseline) equilibrium, output, consumption, and investment grow at the
same constant rate, whereas employment remains constant across time.

A higher innovation rate, u, sets the economy onto a steeper growth path and results in a
higher real interest rate, while a lower subjective discount factor S also calls for a higher interest

rate. Turning to leisure, it increases in u and the relative taste parameter for leisure x and decreases

in 3.

3.2 Synchronized implementation equilibrium

I focus on the synchronized (cyclical) implementation equilibrium at which, firm 1, which receives
a patent in an odd period, finds it optimal to save it and implement it in the following even period

together with firm 2 which receives a patent then (see also fn. 19).

Period 7 — 1. A patent reaches firm 1 and is not implemented but is instead stored and imple-
mented in 7. Effectively, from the viewpoint of 7 — 1, a not implemented patent is as if it had
never arrived. As (17) holds, firm 1 (likewise, firm 2) sets the same price and produces the same
quantity as its competitors would, given by (14) and (15), respectively, and it produces at the same
marginal cost as they would. The technology with which the following period’s capital is produced

isr_11,—; = Yand P12 = u% 1. Then, capital in the following period is given by

23To find leisure, I use the intratemporal optimality condition ”f—f = w; , where, from the final-good firm’s problem,

— Yt
Wt = —i; -
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Since
kr kr
L (43)
(0 w2
investment in period 7 — 1 is
1—1;
i = [l ] g1 - U0 (44)
Ry,

Likewise, as the technology of firm j’s competitors in 7 — 2 is given by ;21 _; = p~ 1) and

Y225 = ,u*% 1, capital in 7 — 1 is given by

— )t
kre11 = (W) (L—lr-1) (45)

brors = (W) (- 1y). (46)

The above imply

(i _1¢1_ 1_ 1, (1—1_
yrf1=[u G0 4 2 1)} Yot (1—a)a 1%- (47)
R:,

Market clearing in the final-good market implies that consumption in 7 — 1 is

1—1,4 1

1, a1 m
o (1 —a)Rp, Ry

Tr_1= |1+ M%(é_l)} Tﬁé_l (1- a)i (48)

Period 7. Implementation takes place in both sectors. Technology across capital makers in the

two sectors is ¥y _; = ¥ < r1; = ptb and hro_; = 2t < thra; = p2 1, which implies
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that in period 7 4 1 capital is

kry11 = (W)a (1—1lrt1) (49)

kri12 = (MWX)> ’ (1 —1lry1). (50)

R,
Since
kr kr
jo= Bl 3+1,2 ’
pwp w2
investment in period 7 is
1,1
. 14+paa =D o 1 (1-1r
PR i s Y 1(%@%. (51)
K Re
t
The production function (8) combined with (41) and (42) yields
1-1
= [14 0] g i ) 52
-1
Market clearing in the final-good market then implies that
1-1 1-1;
z, = [1 + M%(é—l)} pal(1—a)a LI 11 (53)

R I
(1—a)Ry p R7
Period 7+ 1. A patent reaches firm 1 but it is kept stored until period 7 + 2, when the next
implementation boom takes place. Since it is not implemented, effectively it is as if it had never
arrived. Effective technology in the two sectors is ©;411,—j = pv and ¥,112 = u% v, which
implies that capital in 7+ 2 is

brio = (“‘“”“”) (1 1rs2)

RT+1

krioo

(W) (b,

Taking familiar steps, since
krion  kryop

iT+1 -

) Iu% P ’
investment in period 7 + 1 is given by
. 1_ 11_ 1_ 1 (1 —lryo
ir41 = po 1[1+H2(a 1)} Pa 1(1—@)04%- (54)
Ry
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Combining the production function (8) with (49) and (50) implies

11 1
yrin = |1+ 3G gt (1 - a)et S (55)
R?
Market clearing then implies
1
1—1, a1 -1,
zen = [1+p3GED] 937 (1- a7 e EE
(1—a)R? R

A two-period implementation cycle -of the type that I focus on- requires firm 1, which receives
a patent in an odd period to find it optimal to wait exactly one period before implementing it,
and firm 2, which receives a patent in the following even period to find it optimal to implement it
immediately. I will take the same steps as in the case of the acyclical equilibrium. Starting with
consistency and after imposing stationarity, I first derive the condition under which firm 1 prefers to
postpone implementation to the following period rather than implement immediately, which I label
“Profit Condition 1 (SPC1);” subsequently, I explore the condition under which firm 1 prefers not
to postpone implementation from the following implementation boom to the one after that, which I
label “Profit Condition 2 (SPC2).” The two conditions combined imply that firm 1 prefers to wait
exactly one period to implement and firm 2 prefers to implement immediately than in any future

period. Omitted derivations in what follows are collected in the Appendix.

Profit condition 1. Firm 1 prefers to implement in the following period rather than immediately
as long as its present discounted profits in the former case exceed its present discounted period in
the latter (recall profits are realized one period after implementation). Of course, expectations are
centered around the synchronized implementation equilibrium in both cases.?* Given stationarity

and 7 being an even period, the implementation decision, made in 7 — 1, must then satisfy

HT—I HT—l
7+1,1 7,1
— > = SPC1
RT—l RT R’T—l ( )
Given (18), (SPC1) becomes
1
1- lT 1 Rﬂ(}
—ln o, B 67
T—1

Z4For the lack of strategic interactions among firms see fn. 11.
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which as I show in the Appendix boils down to

pllt+ -] 1
w4 B(1—a) B

We can see that (58) is more easily satisfied as p and [ increase and as o decreases. A higher

(58)

innovation rate implies higher profits, hence a greater incentive for firms to coordinate in the
presence of demand externalities. A higher 8 implies that firm 1 is more likely to wait for a certain
level of profits; in the limit as 5 — 1, (58) is always satisfied. Turning to «, it parametrizes both
the capital share (1 — «) as well as the elasticity of substitution between the two types of capital
(é) . Greater values of both imply that implementation cycles are more easily sustained. As « falls,
the former increases whereas the latter increases. However, the former effect dominates, hence (58)
is more easily met. Last, observe that (58) is independent of the relative weight of leisure x in
the agent’s preferences which is due to the separability of leisure and consumption within the flow

utility and, given this, to preferences being logarithmic in consumption.??

Profit condition 2. For a synchronized implementation (cyclical) equilibrium to be sustained,
no firm must find it optimal to postpone implementation past the two-period cycle. For this to be
the case, it suffices to show that no firm has an incentive to wait until the next implementation
period, i.e. period 7+ 2, an argument also appearing in Shleifer (1986).

To see this in the case of firm 1, note that, given the stationary structure of the economy, if
firm 1 prefers to implement in 7 rather than in 7 — 1, i.e. when condition (SPC1) holds, then it
also finds it optimal to postpone implementation from 7 4+ 1 to 7 + 2. In other words, condition
(SPC1) effectively implies that implementation can only take place in even periods. Thus, showing
that firm 1 opts to implement in 7 as opposed to doing so in 7+ 2 or, by the same token, any future
even period, is what I need to complete the consistency requirement of Definition 1. Note that this
argument is independent of the fact that a new patent will reach sector 1 in 7 4+ 1 rendering the
patent received in 7 — 1 obsolete. An analogous reasoning applies to firm 2.

Then, in the case of firm 1, the following condition must be satisfied:

-1 -1

T+1,1 T+3,1
— > ’ . SPC2
RT—I RT o RT—l RT RT+1 RT+2 ( )

Given that R;—1 = R;41 and R, = R;4 2, condition (SPC2) simplifies to

RrReyq > 1. (59)

#For a = 2/3, which by (17) requires ¢ < 3, x = 1.5 and 8 = 0.97, (58) requires approximately that p > 1.14.
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Condition (SPC2) implies that profits are discounted at an on average positive net real interest rate
and we can think of it as a weak version of the transversality condition which I analyze below.
One can confirm that conditions (57) and (59) combined imply that firm 2 finds it optimal to
implement immediately.?
Combining (22) and (23) with (48) and (56) implies that

A= ,ué_l > 1 ,sincep > 1. (60)

Lemma 1. Remark 1 and (60) imply that (59) always holds.

3.2.1 Balanced growth path

Leisure. On the balanced growth path of the synchronized implementation equilibrium, leisure
takes values which alternate between odd and even periods and remain constant every other period,

thatis ;1 = lr41 = logg and Iy = lr42 = leven -2" As I show in the Appendix, leisure is given by

(61)

lodd = apl+ fl=a)) —Fl]1

X p— Bl —a)?

e ptpi-a) ]

Remark 2. It is l,qq < leven -

Remark 2 implies that employment falls when implementation takes place.

Interest rates. Equilibrium interest rates are given by (23), with A given by (60) and v given by

26 Starting with profit condition 2, it would be like (SPC2) but without R,_1 in the denominators, which plays no
role anyway. Then, (59) is what we need.
Turning to profit condition 1, firm 2 implements immediately if

T T
T+1,7 HT+2,i
R‘r - R‘r RT+1

After substituting for profits, given by (18), and exploiting stationarity, which implies I = l;42, the above condition

boils down to .
RT+1 371 1-— lT
R, > .
i ( Rr ) - 1- l7'+1
This holds if conditions (57) and (59) hold together which we can confirm by multiplying the LHS of (57) by R- R,41 .
27T use interchangeably throughout I-_1, l-4+1 and l,qq for leisure in odd periods and I, , l;+2 and leyen for leisure
in the even ones.
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(o alp+ B(1—a) + x(p=F(1L-a)?) |77

v = 63
(L A=) + x (= (1 —aP) (©3)

Claim 1. It isv < u%(éfl).
Proof. See the Appendix. O

It follows from (60) that the geometric average growth rate is u% (a=D) , which is the one that
prevails every period in the immediate implementation (steady-growth) equilibrium. Controlling
for deviations from it and using Claim 1 implies that consumption booms when implementation
takes place.

Letting Reypen and R,qq denote the real interest rate paid in odd and even periods in the syn-
chronized equilibrium, respectively,?® and, with R denoting the real interest rate in the immediate

implementation equilibrium, Claim 1 leads to the following remark:
Remark 3. It is Reyen < R < Rodq -

Controlling for variations in employment, Remark 3 bears witness to the presence of demand
externalities between the two capital-good sectors: since Reyen, < R, profits (both discounted
and current-valued) of the following firm (firm 2), which implements a patent immediately in both
equilibria, are greater in the synchronized than in the immediate implementation one (see also (18)).
Allowing for variations in employment does not overturn this observation for all the parametrizations

that I have considered.

Transversality condition. In what is the last step, I check the transversality condition. The
transversality condition requires the present discounted value of the agent’s lifetime wealth to con-
verge. In other words, the present discounted value of the labor income and the capital-good
firms’ profits needs to converge. In the Appendix I show that the transversality condition is always

satisfied.29

With (SPC2) always satisfied, the following proposition can be generated:

Proposition 1. A two-period synchronized implementation equilibrium prevails as a perfect-foresight

equilibrium as long as condition (SPC1) and the no-storage condition (1) are satisfied.

Z8Throughout I use interchangeably Reyen , R+ and R.. 2 for the interest rate paid in odd periods and Roqq, Rr—1
and R,41 for the interest rate paid in the even ones.

29This result is due to preferences being logarithmic in consumption. For general CRRA preferences, the transver-
sality condition is more easily satisfied the lower the intertemporal elasticity of substitution is.
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This proposition is central to the paper. In sharp contrast with the conjecture in (Shleifer,
1986, page 1183), implementation cycles with capital can be generated and they do so for plausible
values of the parameters. Importantly, this happens in the presence of storable commodities and in
the absence of borrowing constraints and investment irreversibilities (on the latter see also fn. 33).
But how so? Following Shleifer’s line of thought, one would expect that, in the prospect of future
profits, agents would reduce current savings and, thereby, future capital stock in order to smooth
out their consumption across periods. At the same time, a (real) interest rate increase would be
necessary to prevent agents from borrowing in the period before the wealth expansion. Both effects
combined imply that firms’ present discounted profits in an implementation boom would fall which
could eliminate their incentives to postpone implementation until then.

This intuition does not apply here. This is because, in sharp contrast with Shleifer (1986) in
which innovations are sector-neutral, that is they enhance total factor productivity (TFP), innova-
tions here are investment-specific as in Greenwood et al. (1997, 2000) . This difference in modeling
technological change is important. Unlike changes in TFP, investment-specific technological change
introduces a one-period discrepancy between the date firms invest and the date they receive their
revenue. As a result, a coordinated implementation of patents implies a concurrent considerable
fall in savings/investment -in fact, investment can even undershoot- due to the reduced cost of
producing capital and a considerable increase in the wealth of agents in the period following it.3°
The former implies that consumption grows considerably in an implementation boom even after
taking into account the effects on output.®! The latter implies that the consumption boom takes
place before the wealth boom. This not only eliminates the need to smooth consumption away
from the wealth boom to the period before it, but, additionally, it implies that the interest rate
linking the implementation period to the one when revenue is realized and wealth expands actually
falls (Remark 3). As a result, firms discount future profits less rather than more. The fall in the
real interest rate, in turn, causes two, tied to each other, effects. First, it increases investment in
an implementation period which thereby smooths out consumption in the opposite direction from
the conjectured one, though (without overturning results; Claim 1 is a general equilibrium result) .

Second, it leads to an increase of the capital stock in the period revenue is realized relative to that

3%Tn fact, output and, consequently, labor income also boosts with a one-period lag (see the analysis below) . This
need not be always true. For instance, in the extreme case in which labor is inelastically supplied, labor income
booms when implementation takes place. Nevertheless, for all the parametrizations that I have considered, variations
in labor income prove insufficient to make the wealth boom happen simultaneously with the consumption boom and,
hence, potentially overturn the intuition in the main text.

3More precisely, consumption grows above trend as Claim 1 attests.
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in the implementation period.?> With the demand for capital being elastic, this implies that the
profits capital-good firms make following an implementation boom grow rather than fall (see also
(18)) relative to the profits they would have made had they implemented alone. Taking everything
into account, present discounted profits increase which eventually makes implementation cycles pos-

sible (Proposition 1) .33

Below I discuss the role of parameters in the generation of cycles and the balanced growth path.
Iset @ = %, which by (17) implies that u < 3 and, based on Greenwood et al. (2000), x = 1.5
and consider values of 3 close to 1.3* A consequence of setting a = % is that v, given by (63), is
greater than one. In turn, this implies that R; is greater than one, whereas by Claim 1, R,y is

also greater than one. As a result, the no-storage condition is always satisfied.

Generation of cycles. A greater innovation rate sets the economy onto a steeper growth path
which is accompanied with higher interest rates, R, and R,1. However, R, increases sufficiently
more than the interest rate paid after an implementation boom, R,, does so that the RHS of
(57) falls. In other words, controlling for changes in employment which as I argue next actually
reinforce this effect, as the innovation rate increases, discounted profits in an implementation boom
become greater relative to profits that would be realized if firm 1 instead opted to implement alone.
This is because a greater innovation rate results in considerably reduced savings/investment in an
implementation period. In turn, this implies a substantial increase in contemporaneous consumption
both in absolute and, crucially, in relative to trend terms, where I define as trend the geometric
average growth rate AP = ,u%(éfl) which characterizes the immediate implementation (steady-
growth) equilibrium.?>

Turning to leisure/employment, a greater innovation rate, i, results in an increase in leisure in

lria 1—l 41

both periods; the leisure ratio T falls, whereas the employment ratio T which is on the LHS

32Simply compare equations (41)- (42) with (49)- (50). The result follows from Remarks 2 and 3.

33As I noted in fn. 10, that capital depreciates fully effectively rules out disinvestment and, therefore, it could
be argued that I impose investment irreversibilities which according to (Shleifer, 1986, page 1183) could render
implementation cycles possible. The way I interpret his argument, even though such an interpretation may be
susceptible to criticism, is that he expects that too volatile investment would rule implementation cycles with capital
out. By allowing for full capital depreciation, I indeed maximize the volatility of investment as new capital needs to
be produced every period. In fact, as it may have already become apparent, it is the excessive investment volatility
-actually investment can even undershoot- that renders implementation cycles with capital possible here.

34The numerical values that I report below correspond to 8 = 0.97, which is again based on Greenwood et al.
(2000) . In fact, many results below hold for a much wider range of parametrizations, however I abstract from such
considerations.

35The trend of output, consumption and investment is u%(é_l) , that of capital is ,uﬁ and that of employment is
1.
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of (57) increases. Taking both effects into account, the greater the innovation rate p, the more
attractive an implementation boom is to firm 1.

A greater § lowers v, that is consumption in the implementation periods becomes higher both
in absolute and relative to trend terms, and both interest rates. This is because agents become
more patient. However, R, falls less relative to R, and the RHS of (57) decreases. Parallel to
this, a greater discount factor S decreases leisure in all periods as well as the leisure ratio 1%1’
whereas it increases the employment ratio 1;3:&, which is on the LHS of (57). Once again both

effects imply that a higher 8 leads more easily to implementation cycles.

Next, I analyze the balanced growth path.

Balanced growth path. Output, consumption and investment grow by uéfl every two periods:

Y+l | Ter1 Gl 1
— = o
Yt—1 T—1 -1

(64)

Within a cycle, we know that % = v, whereas output and investment’s evolution is given by

1_
Yr+1 _ 11—l Riiq1\ @ !
Yr 1- lT RT
i‘r+1 - 1- lT H RT é
Z"r B 1- lTJrl RT+1 ’

which follow from (52) and (55), and (51) and (54), respectively.

After substituting for the interest rates, given by (23), and using eq. (96) in the Appendix, the

above expressions become

Yr41 M(1+ﬁ(1_a))

Yr _v< p+ B —a) ) (65)
brql p+B1—a)

ir _”<1+6(1—a>>’ (66)

where v is given by (63) .

For the considered parametrization, output grows above trend in the period following the im-
plementation of patents. Investment is procyclical and undershoots: it falls when implementation
takes place, as fewer resources need to be directed towards the production of capital goods, and
rises sharply in the period following implementation. Further, by Remark 2 employment is pro-
cyclical, whereas, most notably, by Claim 1 consumption is countercyclical. As I argued above, it

is necessary for the generation of cycles that consumption booms in the implementation periods.
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The above and (65) and (66) imply that investment is more volatile than output since ZTL—:” >

Yr+1

- In turn, output is more volatile than employment. Notably (for the considered parametriza-

tion), consumption is also more volatile than output3® but less volatile than investment. The
interpretation for this is simple: with output relatively stable, a very volatile investment implies a
very volatile consumption.

As the innovation rate increases, investment, consumption and employment become more volatile,
whereas the volatility of output responds non-monotonically increasing at low values of p and falling

at higher ones.?7

4 Welfare

From a planner’s viewpoint, both equilibria are suboptimal which is due to the (periodic) presence
of monopolies in the capital-good markets.?® Nevertheless, the equilibria can be Pareto ranked.
In the immediate implementation equilibrium, the lifetime utility of the representative agent,

given by (1)-(2), is equal to

Ui = logzt + x logl + f (log/ﬁ(* Uwﬁ + Xlogl) + B2 (logué_l:v’i + Xlogl) + ..

where I have taken into account that leisure is constant across time and that consumption grows

each period by u%(é_l) (see (39)-(40)). This expression boils down to

1 1 B i
Vi=123 (21 g losm !+ logd + Xlogl) ’ o

where [ is given by (40).

, where -7 = £
Tr_1

36 As consumption is countercyclical, I compare UT“ given by (65)

37In addition to these, note that for the con51dered parametrization, capltal is countercyclical. To see this, recall
that, because of “limit-pricing,” implementing firms produce the quantity of capital that their competitors would
produce. This implies that, controlling for variations in interest rates and leisure, patents will affect the quantity of
capital installed after two periods. Further, capital is more volatile than output, which should not come as a surprise
given that it depreciates fully within a period, is less volatile than investment and its volatility increases in .

38Gince the implementation of a patent improves the technology of an implementing firm’s competitors, one would
suggest that externalities is an additional source of inefficiency. My argument for why this is not indeed an issue is
the same as the one in Shleifer (1986) (in particular, see (Shleifer, 1986, page 1178) and fn. 10 there). In principle,
this potential problem could be corrected by allowing for decentralized markets on a one-to-one basis between the
firm endowed with a patent and one of its competitors with the former setting the price in exchange for sharing the
rights to its patent (we can equivalently think in terms of contracts on an individual, “take it or leave it” basis) .
The presence of constant returns to scale in the capital-good’s technology implies that competitors, which behave
symmetrically, will demand zero at any positive price since, afterwards, they will Bertrand-compete at least with the
firm owning the patent which, in turn, is not willing to suggest a zero price. Hence, markets would clear at positive
prices small enough so that demand and supply are equal to zero in each period. Therefore, externalities is not an
additional source of inefficiency.
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In the synchronized implementation equilibrium, the lifetime utility of the agent is

1
pat
v

U, = logai + x 1ogloaa + <log 2§ + x log Z) + 8% (log pm " af + X 10gkoad) + - -

where I have taken into account that leisure is constant controlling for the period being odd or even

and that consumption grows as (21) and (22) prescribe. The above expression simplifies to

B 1 s X
s = —_— 71 (&3 - l 1 H 1 lO 1 l@UETL )
U 1—6{1—52 og 1t Tt ogw1+71+ﬁ(0g dd + 0108 leyen) (68)

where v is given by (63) and ly4q , leven are given by (61) and (62), respectively.

To make welfare comparisons, simply subtract (68) from (67) to get

IOg lodd + /3 10@; leven

1 )
U; — Us [55 (logv - logu%(é_l)) + logx} — logz] + x <logl -

T 1-8 |11 1+2

(69)

For the considered parametrization, welfare is greater in the immediate implementation equilib-
rium than in the synchronized implementation one.?® To analyze this result, I will start with the
last terms in (69), which reflect differences in welfare due to differences in leisure levels. For the
considered values of «, x and 8 and sufficiently high values of u, the leisure component of lifetime
utility is greater in the synchronized implementation equilibrium. However, the effect of leisure in
welfare comparisons is typically negligible.

What is crucial is differences in lifetime consumption. To analyze these, I will draw a distinction
between the difference in the initial consumption levels, captured by the third and the fourth term
in (69) combined, and the difference in the consumption growth rates between the two equilibria,
captured by the first two terms. The latter takes a negative value by Claim 1. To see this, recall
that the growth rate every two periods is the same across equilibria. Hence, the difference in
consumption growth is due to the difference in the growth rate within a cycle, captured by the first
two terms in (69). Since consumption grows faster in the synchronized implementation equilibrium
(Claim 1), the first two terms combined take a negative value.

Turning to the initial level of consumption, it is higher in the immediate implementation equi-

librium. To see this compare (31) and (48) .1 Tt turns out that in the immediate implementation

39Tn fact, I have failed to obtain the opposite result for a wide range of parametrizations.
40Gince what matters is relative consumption, any odd-period consumption would do for the comparison between
equilibria.
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equilibrium output is greater and investment lower compared to the synchronized implementation
equilibrium.*! Controlling for the interest rates which do not overturn the result for the considered
parametrization, investment is lower in the immediate implementation equilibrium since one firm
(firm 1) implements a patent as opposed to none doing so in the synchronized implementation one
(compare (26 with (43)). As for output, once again controlling for the interest rates, it is greater
in the immediate implementation equilibrium because patents in sector 1 are implemented faster
which leads to a greater level of capital of type 1 (compare (28) with (45)) and, hence, a greater

level of output.*?

4.1 [Initial levels of capital/investment

Section 3 analyzed the two equilibria independently of each other. By this I mean that, in each
equilibrium, the economy starts with the “right” quantity of capital-goods.

Below, I find the initial (period-0) investment required in each equilibrium. I suppose that the
level of initial investment is the one that would have prevailed if time had started in — co. Therefore,

I set ¢ = 1 and divide the RHS of both (34) and (51) by ,ué_l A3 This yields, respectively,

i 11 111

g = |:1 + u 2(a+1):| (1—0[)& Rl (70)
s _1 _ 11 11-1;

iy = [ %+ p 3] (- aye S (71)

T
Rz
1,4
where [ is given by (40), R = %, lr41 is given by (61) and R, = 7 with v given by (63).
For the considered parametrization,* initial investment is greater in the immediate implementa-

tion equilibrium. As a result, the two cases can be Pareto ranked only conditional on this difference

in initial investment.

4IThe result for investment is true for the standard parametrization but not in all the ones that I have considered,
whereas the results for output and, crucially, consumption hold for all the parametrizations that I have considered.

421 have not explored welfare in the case of a synchronized implementation equilibrium in which implementation
booms take place in odd periods (see also fn. 19). Nevertheless, since that cyclical equilibrium is symmetric with
the considered one and given that time commences in an odd period, my conjecture is that results would possibly be
overturned. Such an argument might apply to the welfare considerations in Section 5 as well.

431 opted for initial investment rather than initial levels of capital in order to facilitate comparisons between
equilibria. To find initial levels of capital one needs to set ¥» = 1in k-_11 and kr_1,2.

4411 particular, this is true for all the parametrizations that I have considered.
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5 The Desirability of Extending Patent Rights

In this section I explore whether extending the patent horizon is potentially welfare-improving.
Therefore, the only assumption that I relax concerns the duration of patent rights. In particular,
I let firms make monopoly profits out of a patent for two periods instead of one. Everything else

remains unchanged.

5.1 Immediate implementation equilibrium

As in Section 3.1, leisure and the real interest rate remain constant across periods with values given

by [ and R, respectively, which I find subsequently.4’

Period 7 — 1. Firm 1 receives a patent which it immediately implements, whereas firm 2, which
implemented its patent in the previous period, enters its second and last period as a monopolist.
The technology levels in the two sectors are ¥r_11,—; = ¥ < Y;_11; = py and Y,_12_; =

M_%w < Yro125 = u% 1, respectively. Then,

by = (“‘“W) ) (72)

Investment is given by

k’r 1 kT,Q

5

pp ‘u%@b

7:7'—1 -

Combining the above expression with (72) and (73) yields

) _ _ 1.1 1 1 (1—1
i = [pt 4 ) g g 020 (74)

Similarly, since ¥, 21, _; = p~ Y and Yr_99_j = ,u_% P,

45 As it will become evident below, the real interest rate in an immediate implementation (steady-growth) equilibrium
is the same irrespectively of the duration of patent rights, hence the use of R as opposed to, for instance, R.
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be1y = ((1 - a})%ul T/J>°1” (1-1)

kr_12 = (W) ) (1-10).

I proceed in a familiar way to find output and consumption:

R (u%éfl) ﬂf%(ém)

11—«

= (Wt pT G (76)

Period 7. Firm 2 receives and immediately implements a patent. In period 7, technology in
sector 1 remains as in 7 — 1, that is ¢, 1 _; = ¥ < 9¥r1; = pv, whereas in sector 2 it becomes

Pro_j = u% Y < Proj = ,u% 1. Capital in the following period is given by

(“_R“Wy (-1 (77)

kri11

kri12 = (M)M“p> ) (1-1). (78)

Investment is given by

k- k-
Q= 2 4 2 (79)
MD w2 Qp
which combined with (77) and (78) yields
. _ 131 1 1 (11
ZT:[ulﬂm Nyt -ayr LS50 (80)

Output and consumption are given by

Yy = 1 _’_M—%(%—l)] é—l (1 _ a)é—l (1 - )

v = (l—a)s (1= R = — (w7t + pmE)
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Period 7 + 1. Firm 1 receives and implements a patent. Technology in the two sectors is

1 3
Yrar1,—j = pY < Yry11y = pPand Py = p2Y < hry12; = p2 1. Then,

krio = (“‘j?“¢>i<1—b

krio2 = (W) ) (1-1).

Investment is given by

kr1 kro
Z7'+1 — ;-7 + ;1 ,
w2 w2 P
which is equal to ~
. 1_ i3] 1 1(1-1
ir = [+ ptd] g (10t L5

Output and consumption are given by

1 1
Yri1 = [1+/ﬂ(§’”} pat(1-a)a Tt

Trp1l = a1 (1- a)é (1-— l)Rfé

5.1.1 Profit conditions.

As each firm can make profits for two periods out of a patent, profit condition 1 in the case of a

firm receiving a patent in period ¢ — 1 becomes

IT; " Il 4 > ITi 4 |1 D)
R4 Ri 1Ry = R Ry Ri_1 R Rty

The LHS refers to discounted profits as of ¢t — 1 made when a patent is immediately implemented,
whereas the RHS refers to discounted profits made when a patent is implemented in the following
period. The above condition does not take into account that, in the latter case, after one period a
new patent will render the one in question obsolete, which would imply that the condition would
be more easily satisfied.

Likewise, profit condition 2 becomes

I n 14 S i1 . Iy 3
Ri1 R Ry = Ry RiRyyn Ri1 Ry Ryp1 Riyo
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Since in the steady-growth equilibrium, employment and interest rates are constant, so are

temporal profits. Then, both profit conditions boil down to R > 1 .46

5.1.2 Balanced growth path

Along the balanced growth path, output, consumption and investment grow all by u%(éfl) and the

. . 3(5-1) C o .
real interest rate is R = £ 7> which implies that both profit conditions are always met. Leisure

is given by (see also fn. 23)
—1
~ a'LL
[ = +1 . 81
X = A —) oy

5.2 Synchronized implementation equilibrium

In the synchronized implementation equilibrium (of the type I considered in Section 3), firm 1
postpones implementation until the following even period when it implements together with firm
2. Let me start with the profit conditions and, subsequently, show a synchronized implementation
equilibrium is not possible when rights over a patent last two periods.

For firm 1 which receives a patent, say, in 7 — 1 to prefer to implement in period 7 rather than

immediately, it must be that

HT+1 HT+2 I1; H7'+1

+ > + . 82
RT—l RT RT—l R’T‘ RT+1 RT—l RT—l R’T ( )
The first term on the LHS and the second on the RHS cancel out so that (82) becomes
IT IT
T+2 T (83)

RT—l RTRT+1 ~ RT—l.

By juxtaposing (83) with (SPC1), we can see that postponing implementation to the following
period when the monopoly horizon is two periods is equivalent to postponing implementation to
two periods afterwards in the context of the synchronized equilibrium in the one-period monopoly
case.

Since in a stationary equilibrium interest rates and employment remain constant controlling for

the period being odd or even, it follows that IT, = II,,o. This implies that (83) becomes*”

R Ryyy < 1. (84)

46 A5 in Section 3, the no-storage condition requires that R > 1 and the TVC always holds.
4TAs it has been so far in the paper, whenever it comes to profit condition 2, I ignore the possibility that new
patents can render the ones in question obsolete, which would imply that profit condition 2 is more easily met.
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Turning to profit condition 2, this is

I o N I3 n Iy
RT—l RT RT—I R’T RT+1 o RT—I RT RT+1 RT+2 RT—I RT RT+1 RT+2 RT+3

(85)

By stationarity, one can confirm that (85) simplifies to

1 HT+2)
1— —o— ) (I + > 0.
< Ry Rr+2> ( TR

Given that it is not possible that firms make negative profits in equilibrium since in that case they

would rather not implement their patents, this expression becomes (recall that, by stationarity,
R: = RT+2)
R-R:y > 1. (86)

Juxtaposing (84) and (86) implies that synchronized implementation is not possible when patent
rights last two periods.
Below I explore whether extending patent rights to two periods can lead to a welfare improve-

ment.

5.3 Welfare

I showed above that only the immediate implementation equilibrium is possible when patent rights

last two periods.*® Then the agent’s lifetime utility is

~ 1 1 B 1y i 5
U, = - <21—5 log i + log | + Xlogl) , (87)

where [ is given by (81). I will compare (87) with the lifetime utility in the two equilibria which
can prevail when firms profit out of a patent once. That is I will compare (87) with (68) and (67)

in that order.

5.3.1 Welfare comparison with the synchronized implementation equilibrium

The difference in lifetime utilities is given by

U, —U;

_ 1 B 1(i-1) s i
= m [ (log,uz a logv) + logx] — logZ] + X

10g lodd + 6 log leven “ 1o Z)
1+3 &)

1+ 8
(88)

48To be precise, I have failed to find an equilibrium besides this one.
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I will take the same steps as in Section 4. Starting with the leisure terms, one can confirm that
I > lewen > logg. The first inequality follows by comparing (81) with (62), whereas the second
follows from Remark 2. Then, although its role is non-pivotal in welfare comparisons, leisure utility
is greater in the two-period patent equilibrium.

Turning to consumption, by Claim 1 and as explained in Section 4 the growth terms together
take a negative value. However, what is once again crucial for the welfare comparison outcome is
the distance between the initial levels of consumption in the two equilibria given by (48) and (76) .
It turns out that for sufficiently low values of the innovation rate, u, initial consumption is greater
in the two-period patent equilibrium (see also Figure 1). I will proceed into two steps.

Starting with initial output levels, we can see from (47) and (75) for ¢» = 1 that

11 11
[e% «@
even

. 1—1 1-1
Ay=yi — 55 = |p &Y +—u‘%(é‘”](1—-a)é_1 ( ol ) : (89)
Taking into account that [ > logq and that, by Remark 3, Repenn, < R implies that the last term
is positive, hence initial output is greater in the synchronized implementation, one-period patent
equilibrium than in the two-period patent one. Furthermore, for the considered parametrization,

the initial output difference increases in .

Turning to initial investment levels, we can see from (44) and (74) for ¢» = 1 that

- 1 1-— 1-1
Ai =il — i = [ + M—%&i“)] (1—a)t |G+ 1 leen 101 (90)
a Rc;;dd e

For the considered parametrization, the last term is positive and the initial (positive) investment
difference grows in j .49

It follows from the above that, for the considered parametrization, in the synchronized imple-
mentation (one-period patent) equilibrium both output and investment are greater compared with
the two-period patent equilibrium. These follow from the fact that, in the latter, patents in sector
2 become available with one-period lag relative to the former. To inspect things more, after con-
trolling for the differences in interest rates and employment, output is the same in the considered
equilibria, whereas investment in greater in the synchronized implementation one. The former is
because firms use the same level of capital; to see this, observe that in even periods, the imple-
menting firms competitors’ technology level is the same in both equilibria. The latter is because
in odd periods no firm implements (or, appropriates) a patent in the synchronized implementation

equilibrium, as opposed to both in the two-period patent one.

“OTn fact, the initial investment difference is positive for all the parametrizations that I have considered.
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For the considered parametrization, at sufficiently low values of p the “investment” effect domi-
nates the “output” effect (Ay < Ai), hence initial consumption is greater in the two-period patent
equilibrium. However, Ay / Ai increases in p and becomes greater than one for high enough values
of it. The threshold value is py* ~ 2.14.

Since the level of initial consumption is pivotal in the welfare comparisons, the latter will exhibit
the same pattern: for sufficiently low values of p, the two-period patent equilibrium is Pareto-
superior to the synchronized implementation equilibrium which can prevail when patent rights last
one period.”® The threshold value in the welfare comparison is ** ~ 1.95 (see also Figure 1), which
is lower than p* since the combination of the growth and the leisure effects favors the synchronized

implementation equilibrium.

5.3.2 Welfare comparison with the immediate implementation equilibrium

The difference in lifetime utilities is given by

. 1 , . -
U, — U; = 5 [logazl1 — logz] + x (logl — logl)} . (91)

Starting with the leisure terms, we can confirm by comparing (40) and (81) that I > [. However,
the role of leisure in the welfare comparison is negligible.

Turning to consumption, I show in the Appendix that, for all parameter values, ¢ > .
There are two forces underlying differences in consumption. On the one hand, patents may be first
implemented at the same time in the two equilibria, however, in the two-period patent equilibrium,
firms can profit out of these for one additional period. This implies that -in the two-period patent
equilibrium- patents become available to the implementing firms’ competitors and, hence, to the
economy with one period delay. One can actually confirm that, controlling for differences in em-
ployment, y; = M%(é_l) Gt , for all ¢.°1 On the other hand, in the two-period patent equilibrium,
two capital-good firms implement a patent in each period as opposed to one in the immediate, one-
period patent, equilibrium. As a result, and once again controlling for differences in employment,
we can see (for instance, by (27) and (74)) that i; > ,ué_l i¢, for all . That is extending patent
rights to two-periods implies that investment falls more compared to output. Nevertheless, these
are in relative terms; in absolute terms the “output” effect always dominates the “investment” effect

and consumption falls. Furthermore, the initial consumption difference grows in s .52

00f course, one needs to make sure first that condition (SPC1) is met so that a synchronized implementation
equilibrium is possible.

S!Taking into account differences in employment would imply that y; > u%(é_l) Grsincel—1 > 1—1.

52 This result holds for all the parametrizations that I have considered.
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With initial consumption’s role being pivotal in the welfare comparison, welfare is greater in the

one-period patent immediate implementation equilibrium.

Combining the results above leads to the central policy implication of the paper:

Proposition 2. For a sufficiently low innovation rate, extending patent rights to two periods can
lead to a welfare improvement.
5.3.3 Initial level of investment

Proceeding as in Section 4.1, to find the initial level of investment in the two-period patent equi-

librium, I set ¢ = 1 and divide the RHS of (80) by ;ﬁ_l . This yields

1-1

= w+ p 2G| (1-a)a (92)

T
For all considered parametrizations, initial investment in the two-period patent equilibrium is lower
than in both one-period patent equilibria. Hence, the welfare improvement that Proposition 2

considers is unconditional on the initial level of investment.

6 Conclusion

This paper showed that implementation cycles in the presence of capital and the absence of bor-
rowing constraints or constraints on investment volatility are possible. The reason is that patents
are on investment-specific technological change which introduces a one-period discrepancy between
the time a new patent is implemented and the time revenue out of it is realized.

Furthermore, the exogenous generation of patents permitted it to view patent rights from a dif-
ferent perspective. The “default” one concerns the incentives of innovators which, ultimately, affect
the generation of patents. This paper abstracted from this, otherwise important and heated, debate
and, instead, focused on the effects that the length of patent rights can have on the implementation
of patents. In particular, it showed that a prolongation of patent rights eliminates implementation
cycles and may lead to welfare improvements.

The model, arguably highly stylized, certainly has its limitations. From a macro-perspective,
consumption booms before output and is too volatile. From a more theoretical one, the analysis
was silent about transitional dynamics, whereas, what is a related issue, the initial conditions were

3

assumed to be the “right” ones. Resolving these issues could be part of future research.
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A Appendix: Proofs

Proof of Condition 1 (No storage): There are two kinds of storable commodities in the
economy: the capital goods and the final good. I deal with these in turn. The storage technology I

assume in both cases is one-to-one.

Capital goods. Suppose that capital-good firm j produces an additional unit of capital good
7 in period t — 1 and, instead of selling it to the final-good firm in period ¢, it instead stores and

sells it in period ¢t + 1 (I assume that capital depreciates only if used). The cost of producing it

qt+1
Re Re—1

as of t — 1 is, say, i , whereas the revenue generated out of it as of ¢ — 1 is , Where ¢ is the

competitive price offered by the final-good firm given by (14). No storage takes place if

Ry 1
S — < —,
YReRer @
which is equivalent to
Ri 1 > 1. (93)

If, instead, the capital-good firm considers selling the additional unit of capital in period ¢ + 2,
then, ignoring the possibility that a new idea will render the one in question obsolete, the no-storage

condition becomes

RiRi—1 < 1.

It follows then that (93) suffices to rule out storage in this case as well. Of course, if a new patent
renders the one in question obsolete and supposing that the firm in question receives the new patent
(see also the last paragraph in this proof), discounted revenue will be even lower and the no-storage
condition will hold even more easily.

Proceeding in this way, (93) suffices to rule out storage and sale of a capital good in any period
after period t + 2. Therefore, positive net interest rates rule out storage in equilibrium.

Let me underline that, in the above argument, I have implicitly assumed that a capital-good
firm sells at least an infinitesimally small quantity of the capital good it specializes in in ¢. This
implies that in case it possesses and makes use of a superior technology (patent), that becomes
publicly available in ¢ so that its competitors copy it and the competitive price prevails in ¢t + 1.
And, of course, I rule out the possibility that a firm uses two different technologies at the same

time.
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I deal with the possibility that a capital-good firm possesses a superior technology and does not
implement it in later sections of the main text and I label the respective conditions profit conditions
1 and 2. In other words, the profit conditions and the no-storage condition act in a somewhat
complementary way. The former specify that a capital-good firm implements a patent and, since
it maximizes profits, meets the whole demand for the type of capital it specializes in when it is
conjectured to do so, whereas the latter rules out the possibility that it produces an additional
amount of capital which it stores in order to sell it in a future period.

But still there is the possibility that a firm with a superior technology prefers to implement it
in the following period, but considers using it immediately in secrecy aiming to sell the capital it
produces using it in two periods. Given that it faces a given demand from the final-good firm and
acts as a profit maximizer -that is it sells a certain profit-maximizing quantity-, for positive net
real interest rates the discounted cost of producing it tomorrow is lower than today. Given that the
price per unit is constant and common under both scenarios, once again positive net real interest
rates rule this possibility out. As for the case in which that firm considers selling capital in any
other future period (from the third period following the considered one onwards), see my analysis
above.

Last, note that in some of the above arguments I assumed that the capital-good firm deciding
whether to store capital or not will with certainty have the chance to produce capital in the future
which, of course, need not be the case and which would render some of my above arguments

irrelevant.

Final good. It is easy to confirm that condition (93) rules out storage of the final good as

well.
Derivations in Section 3.2:

Profit condition (58). As stationarity requires “7** = v, combining (53) and (56), and

given that, again by stationarity, Rr—1 = R,;41 and I = ;42 one can get

1
1—1lr1 a1 —1,) 1—1, 1 -1
+l—1 o (l =v 11 - ; (94)
(1—a)R? B2, (1-a)Ry, Ry
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Rearranging terms in (94) yields
1 1
1—1lr 1 v R ot uEil v
= . 95
< 1—1; )<l—a+uRT) <R7_1> <R7_1+1—o¢ (95)
Combining (95) with (23) implies that

L=l < R, >i—1R [mum(l—a))}
1-1,  \ R "l op+Bl-a) ‘

(96)
The profit condition (57) requires that

1
1— lT+1 R, «
R; .
1- lT ” <R‘rl)

Substituting in the LHS of (57) the RHS of (96), taking into account that R, and R,y are

both positive (since A and v, given by (60) and (63), respectively, are positive) and rearranging

yields the profit condition (58).

Leisure equations (61) and (62). Combining (6) with (9) and the production function (8),

we get
1—1; 1 1
8 = Yr+1 T Ulr41 iy (97)
Yr 1- l’r-l—l lT RT
Equations (52) and (55) together imply that
1= lpyy (Reog\o !
Yro1 _ 1=l < rl) ' (98)
y‘r 1 - lT RT
Substituting (98) into (97) yields
l R, o !
T+1 T &
= 0BR 99
l‘r B i <R71> ( )
Combining (96) and (99) results in
1—-1; 1—-1; 1 1-—
lr41 lr p+B(1—a)
The intratemporal optimality condition of the household in period 7 is
Y~ (101)
I,

where z is given by (53).

aYr

Labor demand from the final-good firm (see (9)) isw- = =F,

with y, given by (52) . Combining
these and substituting on the RHS of (101) yields
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1 1-—1; 1—1; 1
I, I ;1 - (104_ Q) pi-1’ (102)
T [A—a)RZ uR: X Ry
1_
Multiplying both sides of (102) by Rﬁ‘_ll and using (99) yields
1-10 1 1-1
- ap__ a (103)

I, 1-a by b x(1—a)

Using (100) to substitute for ll_TT“ in (103) results in (62). In turn, inserting (62) into (100) yields

l
(61).

Derivation of (63) . Substituting for the interest rates given by (23) into (99) and rearranging
implies

Vo= (M(é_1)2 lTl‘i'l) e . (104)

To find lTl“T“l , divide (61) by (62) across sides which yields

a p+pl-ca)
o1 N ua—pa=ap T 1 (105)
T a (1+ (1—a)) :
b ety ]

Inserting (105) into (104) results in (63) .

Proof of Claim 1: As the fraction term in (63) is lower than one, it suffices to show that

(212 1=

/’I’ a 2—a < M%(%_l) .
It is straightforward to confirm that this is true.

Transversality Condition: The transversality condition (TVC) requires the agent’s present
discounted lifetime wealth to converge. I explore it for the synchronized implementation equilibrium.

The first step is to find the present discounted lifetime wealth of the agent. The agent’s wealth
consists of his labor income (DLI) and profits (DII) out of the ownership of capital-good firms. I
check both in turn.

The present discounted lifetime labor income is

w2 N2 w3 n3 +
Ry Ri Ry

DLI = wing +
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Using the fact that, from the final-good firm’s problem, w; = ai—i and that, by stationarity,
n =n3=... ,ng =n4 =... ,R = Ry = ... and Ry = Ry = ... the above expression

simplifies to

DLI = ny |29 4 2% aYs } n2 [0‘92 ays ays

. —— =+ -
ny niRi Ry~ ny (Ri R2)? Ry | n2 ng Ri Ry ng (R Ra)?

Since output grows by uéfl every two periods, the above expression boils down to

y ! pr 1\’
DLI = 22y 11 . .
a(y1+R1) +R1R2+<R1R2) +

1

Turning to present discounted profits and noting that they grow by ,ué* every two periods,

1137 + II Ml_l ,ul_l ?

3,1 3,2 o o

DIl = ————== |1
Ri R» + Ri Ry + <R1R2> +

1

14
Given that Ry Ry = % , the above expressions converge, hence, the TVC is always satisfied.

Proceeding in the same way, it is straightforward to check that the TVC is also always satisfied

: : L : e : 3(&-1)
in the case of the immediate implementation equilibrium in which R = £2 7

Proof in Section 5.3.2: Subtracting (76) from (31) -having set ¢» = 1 in both- and taking into

account that 1 — > 1 —{ implies that

#i— @ > (1—a)s R™% (1-1) ( i 1 - G - G - ué(“l)])

= (1—a)a 'R a (1—D)pzla [a _ o GY 4 —a)lfﬂ ‘

In the third line, I use the fact that 5 € (0,1) taking into account that g4 > 1 and o € (0,1),
which imply that 1 — ,u_(é_l) > 0.

The next step is to show that

Q=
Vv
[an}

a—p~ &Y+ (1-a)u
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or equivalently that

a,ué—i—l—aZ/uL. (106)

With ¢ > 1 and a € (0,1), one can confirm that eq. (106) is always true. Hence, 2} > ¢, as

desired.
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Figure 1: Welfare comparison between the synchronized implementation equilibrium and the two-

period patent equilibrium
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